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Which of the following is the BEST reason for writing an information security policy?

 
A. To support information security governance 
B. To reduce the number of audit findings 
C. To deter attackers 
D. To implement effective information security controls 

 
Answer: A

 

 

When assessing an organization’s security policy according to standards established by
the International Organization for Standardization (ISO) 27001 and 27002, when can
management responsibilities be defined?

 
A. Only when assets are clearly defined 
B. Only when standards are defined 
C. Only when controls are put in place 
D. Only procedures are defined 

 
Answer: A

 

 

Provides assistance, advice and information to the patient.

 
A. Coder 
B. Consultant 
C. Medical Transcriptionist 

 
Answer: B

 

 

Clients need to receive a copy of Notice of Privacy Practices.

 
A. True 
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B. False 
 
Answer: A

 

 

A health plan may conduct its covered transactions through a clearinghouse, and may
require a provider to conduct covered transactions with it through a clearinghouse. The
incremental cost of doing so must be borne 
 
A. by the HIPPA authorities  
B. by the health plan  
C. by any other entity but the health plan  
D. by insurance companies  
 
Answer: B

 

 

Was known for identifying anthrax.
 
A. Robert Koch 
B. Edward Jenner 
C. Louis Pasteur 
 
Answer: A

 

 

Helps people with low incomes get the necessary medical help or need. Varies from state
to state.
 
A. Medicare 
B. Medicaid 
C. Chips 
 
Answer: A

 

 

Question No : 5
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Children under age 18 comprise approximately, what percentage of the homeless
population?

 
A. 40% 
B. 30% 
C. 35% 
D. 45% 

 
Answer: A

 

 

True or False? Globalization of health care has produced positive effects in both developed
and developing countries.

 
A. True 
B. False 

 
Answer: B

 

 

Which of the following actions will reduce risk to a laptop before traveling to a high risk
area?

 
A. Examine the device for physical tampering 
B. Implement more stringent baseline configurations 
C. Purge or re-image the hard disk drive 
D. Change access codes 

 
Answer: D

 

 

A Governing board is also known as the___________.

 
A. Medical Staff 

Question No : 8
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B. Administration 
C. Board of Trustees 
 
Answer: C

 

 

Excessive health care is a concern because it is.
 
A. Wasteful 
B. Costly 
C. Potentially harmful 
D. All of the above 
 
Answer: D

 

 

True or false: For people with Medicaid coverage, access to health care is guaranteed.
 
A. True 
B. False 
 
Answer: B

 

 

What data-related concept identifies or characterizes entities and events in a manner that
facilitates an administrative process?
 
A. Non-medical or Administrative Code Sets 
B. Data Mapping 
C. Medical or Clinical Code Sets 
D. Data Elements 
 

Answer: A
Explanation: Non-medical or Administrative Code Sets identify or characterize entities and
events in a manner that facilitates an administrative process. 
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Which is not a "painless" cost control strategy?
 

A. Reduction of administrative waste 
B. Use of cost-effective analysis to limit care 
C. Elimination of inappropriate care 
D. Elimination of ineffective care 
 

Answer: B
 

 

For most privately insured Americans, health insurance is:
 

A. Employer-based 
B. Financed by the government 
C. Privately purchased 
D. None of the above 
 

Answer: A
 

 

Flemming discovered The Cannon of Medicine.
 

A. True 
B. False 
 

Answer: B
 

 

What mandates all privacy in hospital administration?
 

A. HIPPA 

Question No : 15
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B. JCAH 
C. Medicare 
 
Answer: A

 

 

Which of the following is the MOST significant benefit to implementing a third-party
federated identity architecture?
 
A. Attribute assertions as agencies can request a larger set of attributes to fulfill service
delivery 
B. Data decrease related to storing personal information 
C. Reduction in operational costs to the agency 
D. Enable business objectives so departments can focus on mission rather than the
business of identity management 
 
Answer: C

 

 

What type of hospital is an Government Hospital?
 
A. For Profit 
B. Not For Profit 
 
Answer: B

 

 

Jackson broke his ankle while performing with his band 100 Monkeys. Jackson was rushed
to the E.R and from there he was referred to a bone specialist. What type of care is
Jackson in?
 
A. Quaternary 
B. Primary 
C. Secondary 
 
Answer: C

Question No : 19

Question No : 20

Question No : 21
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The Hippocratic Oath was in the Medieval time period.
 

A. True 
B. False 
 

Answer: A
 

 

The adequacy of the health profession workforce (ie. supply and demand) can be
determined by.
 

A. Market demand of health professions 
B. Population need of health professions 
C. Neither A nor B are determinants 
D. Both A and B are determinants 
 

Answer: D
 

 

They create and vote on bylaws
 

A. Medical Staff 
B. Administration 
C. Governing Board 
 

Answer: A
 

 

Surgeons usually receive a single payment for the surgery and postoperative care. This
bundling, or payment per episode, gives surgeons an economic incentive to.
 

Question No : 22
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A. Limit both the number of surgeries they perform and the number of post operative visits
they make. 
B. Increase both the number of surgeries and the number of post operative visits. 
C. Limit the number of surgeries and increase the number of post operative visits. 
D. Increase the number of surgeries and limit the number of post operative visits. 
 
Answer: D

 

 

What is impact of the HITECH Act in relation to HIPAA requirements and maintaining client
records electronically?

 
A. There is a push toward paper records to prevent the hacking and electronic violation of
electronic records, which is easily done without detection 
B. Providers must now maintain client records electronically, but may continue to provide
clients a paper copy when access is requested 
C. There is no requirement to maintain client records electronically, but clients have the
right to insist on electronic access to an electronic health record, if it exists 
D. Electronic records now face intensified scrutiny, requiring practitioners to implement
more sophisticated software and detailed accounting of records 
Your answer: Electronic records now face intensified scrutiny, requiring practitioners to
implement more sophisticated software and detailed accounting of records 

 
Answer: C

Explanation: The impact of the HITECH Act in relation to HIPAA requirements and

maintaining client records electronically is that there is no requirement yet to maintain client

records electronically, but clients have the  
right to insist on electronic access to an electronic health record, if it exists. 

 

 

 

Business Associate Agreements are required by the regulation whenever a business
associate relationship exists. This is true even when the business associates are both
covered entities. 
 
A. There are no specific elements which must be included in a Business Associate
Agreement. However some recommended but not compulsory elements are listed in
164.504(e) (2)  
B. There are specific elements which must be included in a Business Associate

Question No : 26

Question No : 27
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